Opakovani — elipsa reseni

obecna rce stredova rce pol.| stred a b e ohniska hl. vrcholy vedl.vrcholy
2 2
4x2 +25y% —16x—-350y +1141=0 (x ;52) + 0l ‘47) =1 L [27] |5 | 2 |21 [2 + \/ﬁﬂl [-3:7][7:7] | [2:5]]2:9]
2 2 _ Q.
16x% + 9y +160x—54y+337=0 (”95) LU 1_63) —1 || 53| o4 s | V7| saeva]| E5T)-5-1] {_ii{
2 2
2x? +5y? —4x+30y+37=0 ("‘51) +(yz3) 1 | n | 3] | V5|2 | VB a3 | s3] | sz
2 2 .
4x> +3y? —40x+24y+136 =0 (x _35 ) + b “;4) =1 | [5-4] | 2 |3 1 E_z} [5:-2] [5:-6] [5 +4/3 ;—4]
Doplnte tabulku. zpét




